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WHITEPAPER OF
K-ENGINE




Introduction

K-Engine is a completely new artificial intelligence. It is not just a category of interactive
artificial intelligence, but goes beyond the human knowledge.

It has been 20 years since | personally started developing Al. It is no exaggeration to
say that the last 20 years of my life have been devoted to developing this program
alone. Regarding the core, we are now at version 1.0, and looking back, it's amazing
how something so simple seemed so daunting at the time.

Everything is simple once it's built. It's only simple after it's made.

For the past 20 years, | have been working on the K-engine during my personal time
and spending money without any compensation. K-engine means Knowledge Engine,
but you can also think of it as Korea Engine as well. | like the name.

I've always thought that something like K-Engine could never come from the minds of
engineers earning tens of billions of dollars in large corporations. People only work for
what they are paid. If you're paid tens of billions, you're only going to produce tens of
billions at best. Trillions can't be conceived in the development of any company
because no company gives out trillions. This kind of work will always start in a
warehouse or garage.

At the time of writing this, the wrapper version of K-Engine is 0.6. In particular, the
natural language search is only about 60% accurate. The data is also only about 60%
of corporate taxes (400 pages out of 700 pages). But I'm proud to announce that the
core version is 1.0. By the time of the press conference in two months, the data will be
100% and the rest of the wrapper will be improved up to 80%.

As someone who has lived a life of doing what I’'m eager to do, | can tell you that | have
caused a great deal of exhaustion to those around me. Thank you to the 700 Muritz
shareholders who had to bear the loss, my parents, my brothers, my wife and children,
and the few investors who invested money into my project.

September 25, 2023
From my office in Neungpyeong-dong
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1. Status of K-Engine

At the time of this writing, K-Engine OS is at version 0.3. Although this is a low
number, the version of K Chatbot built on it is at least 0.6. Therefore, when the
version of K-Engine reaches 1.0, all applications in the world will run on K-
Engine.

In the future, Windows (and Android and iOS on mobile) will have K-Engine
installed by default, and many existing applications will be upgraded and
plugged in on top of it. Naturally, K-Engine itself will need its own base OS, and
the development of a general OS will begin. Until now, the reason why a Korean
OS has not emerged is due to doubts about its necessity, the astronomical
amount of money invested in it, and the high barriers to market entry. However,
with the advent of K-Engine, all three questions have disappeared, so a truly
perfect general OS will be created in our hands.

Personally, the idea of developing an OS for Al was not so clear until last year.
What started out as an idea to create an error-free GPT has grown into
something much bigger. However, an error-free GPT must be guaranteed to
have a foundation that can pass through all the knowledge in the world at its
root, and pursuing this would be a pursuit of complete fundamentals. As a result,
K-Engine, which began to be created in the form of a chatbot, began to change
into an OS at a certain stage. It was a mutation, not an evolution.

In the current development of K-Engine, there is still a strong impression that
the OS and chatbot are united, but sooner or later, the two will be completely
separated from each other. The K-Engine described below is also based on a
mix of OS and chatbot. This is exemplified by the use of natural language
search. However, once the K-Engine OS and chatbot are separated, K-Engine
will no longer receive questions in the form of language or search. It will accept
"requests" as new symbols or new languages that it creates separately. And the
"response" will also be in its own language. This language is for "knowledge"
that is neither human nor machine. This is why we use the term "response to a
request" rather than "answer to a question."

At the moment, the language, or K-language, has not yet been developed, so
for the time being, the existing language is used to communicate with the K-
engine. Therefore, the appearance of the communication is almost similar to
that of a regular chatbot. However, the internal dynamics will be completely
different from the existing GPT and other programs.
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2. Fundamental Principles of K-Engine

(1) Storage Unit of Information

In a computer, data is stored on the hard disk, and the memory pulls it in, puts it into
the CPU, does what it wants to do, and puts it out again. This is Turing's computer. It
has storage. The hard disk stores information (data). It is mainly stored as a language,
and the processing of the language is the interactive Al such as ChatGPT or Google
Bard.

There are two things to note here. One is the fact that information is stored as
"language" data. The other is the fact that there are no processing standards for the
interconnection of data. This is why computers are fools.

Current computers store information as "languages." They process those languages
to produce secondary products. In this case, language means:

"Social security card", "Number", "Name", "Address", etc.
The current unit of data storage and processing is language, specifically words.

The information stored in this way has no information about how they relate to each
other. It is impossible. How could there be a connection between a mango and a
country, or how can we definitely make a connection between love and travel in
advance? Thus, the data is left to play in isolation. And GPT is an attempt to somehow
combine these unrelated data and come up with something.

Therefore, you have to order an incredibly expensive CPU or GPU, and at the same
time, you have to consume a lot of electricity. And the result includes a bunch of lies
as well.

Basically, the computer doesn't know what it's talking about. It's like a nuclear reactor
with a control rod missing. It's a ticking time bomb that's spinning and spinning, but it
doesn't know when it's going to explore. This is GPT, and this flaw is a fatal incurable
disease that exists at the DNA level. This is why GPT will always be a lying shepherd
boy.
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(2) System
In the K-engine, information is stored in units of "knowledge". For example:
"A national identity card contains a name, social security number, and address."

This is a unit of knowledge. And this knowledge is connected to each other by an
interconnection rule called "system." This systematic collection of knowledge is
commonly referred to as a "textbook." Textbooks usually exist as offline objects called
books. In contrast, K-Engine makes all the knowledge in the world into an "online
textbook." Therefore, K-Engine is an online textbook of all the knowledge in the world.

A typical textbook is about 1,000 A4 pages. That is, on average. That's enough to
generate the answer key for a single subject, for example, civil procedure law. In the
past, there were exams such as the judicial exam and the administrative exam in Korea,
and you need 1,000 pages, which is enough to pass the national exam with the top
grade. However, for practical use, it should be about 5,000 to 10,000 pages, and if we
think of this as an example of a playing "Go" with a lawyer, you will have the first move
in the alternate game. Furthermore, if you know 100,000 pages, the lawyer will have
to lay down two or three points to play a fair game

The reason why a textbook is a textbook is because it can give you all the answers in
the field. That's the idea of a textbook. In order for a textbook to be considered a
textbook, it has to be a comprehensive compilation of all the knowledge in the field. To
do so, it must eliminate all redundancies and arrange the knowledge in an orderly
fashion. The organizing method it is called "system." K-Engine is a system engine.
Based on this system, all questions are answered. Won Hee-ryong, who passed the
bar exam with a top grade, answers immediately. After K-Engine has digested about
100,000 pages of data, it will reach a level where Won Hee-ryong can put down two or
three points. This era is expected to arrive by the end of 2025, which means that the
day when all professional jobs in the world will disappear is only about two years away.
That day will come like a thief.®

(3) Linked information

Language exists independently, but knowledge exists systematically. This is the
difference between GPT and K-Engine. GPT has no linked information between data

9 1 will come like a thief (Revelation 3:3). 1 Thessalonians 5:2, Matthew 24:30, etc. For your
information, | am not a Christian, and | am more of a Hindu.
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(language), but K-Engine has it. Information in K-Engine is always stored in a database
with links to other information, and it also has its own systematic location information.
The computer already knows the interrelatedness of all the knowledge data based on
these two pieces of information, namely the linked information and the system
information. And when asked a question, it answers faster, more accurately, and more
kindly than Won Hee-ryong. More importantly, it doesn't get paid.

Until now, the linked information between data has been virtually non-existent, and it
can be said that it was first introduced to the world by K-Engine. In a typical database,
there is a DBMS, but it is a connection between tables, which is merely a kind of matrix
linkage, not a connection between knowledge. The idea of a connection from one unit
of knowledge to all other units of knowledge has never existed in the history of
computers or databases. In particular, GPT lacks this concept. GPT can only infer
probabilistic connections between words and words, not semantic connections. On the
other hand, K-Engine is fundamentally based on "semantic connections".

"System" and " linked information". This is K-Engine.
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3. How K-Engine Works

(1) Textbook
A textbook looks roughly like this.

What represents a textbook is the table of contents. The table of contents represents
the system of the textbook. In this way, the textbook arranges all the knowledge in the
world in an orderly manner in one book. Whenever a question is asked, it is answered
by extracting the necessary parts from the whole system of the textbook and organizing
them again. Therefore, a well-crafted textbook can answer "everything," at least as far
as your field is concerned. It is infinitely answerable. This is the textbook, this is the
system, and this is the K-engine.
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(2) Knowledge Unit

What a textbook contains is knowledge. Although it is not absolute, knowledge is
usually contained in one sentence, one sentence is assigned to one piece of
knowledge, and one title is attached to one piece of knowledge, thus, the pair of subject
and content is one unit of knowledge.

The K-Engine reorganizes all the knowledge in the textbook in this way. This is
because only then the computer can consume and digest the knowledge. Once the
computer has ingested and digested the knowledge, it becomes a human being. It
becomes a lawyer, it becomes a doctor, it becomes... It becomes an expert in every
field in the world. I've mentioned this before, but after consuming about 10,000 pages
of knowledge in each field, there will be no more experts left in the world. They will only
take supporting roles. 10,000 pages is what 100 people can input in 100 days. With 10
people, that's 1,000 days which is three years. Eventually, in about two years, all the
knowledge of the world will be sucked into the computer. Heaven on earth is not far
away.

A knowledge unit consists of a sentence that represents the knowledge itself and
various information that the knowledge has in relation to other knowledge. In other
words, title, content, and linked information are the basic elements that make up a
knowledge unit. The four components of a knowledge unit are completed by adding
location information corresponding to the systematic information of the textbook itself.
One example is as follows. First, imagine the following scenario. a client asks:

"Whether | can change the residency if an organization is approved as a corporation."

If the client asks K-Engine a question with the keyword or sentence, this would typically
result in the following 17 knowledge items.
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5. Title

(1) Restrict change to resident or non-resident
6. Content

(1) In case an organization is approved as a corporation, it may not change
the status to resident or non-resident in the taxation period including the
approval date and until the business year including the day after three
years from the end of the taxation period; unless the approval is
canceled because of failure to meet the requirements for approval by
the Head of Tax Office.

7. Location information

(1) Location information of the entire system

Corporation tax return > A. Tax obligations of corporation > iii. Tax obligations by
corporation type > (3) Tax obligations of non-profit corporations > 2) Types of non-
profit corporations > ® Organizations deemed as corporations under §13 of the
Framework Act on National Taxes > B. Organizations deemed as corporations
under approval by the Head of the Tax Office > 4. Possibility of changing residents
in the case of being approved as an organization viewed as a corporation.

I

(2) Location information ID
i. (15, 8, 4) €« This will be discussed
8. Linked information

(1) e3<n>,r13<same as the above>

As explained above, we don't need to explain the title and content, but only the location
information and linked information which is a tag.

(3) Location Information

Location information is the coordinate information where the knowledge is located in
the entire system. That is exactly what "(1) Location information in the overall system"
is within the chart above. However, this can be broken down into the following three
parts.

i. Detailed analysis of location information

1) Table of Contents of Parent

Systematic knowledge is in the form of a flowchart, and the flowchart is based on a
parent-child relationship. Therefore, any knowledge unit that exists on the flowchart
can identify its position in the system by knowing who its parents are. In the chart above,
the parent of "4. Possibility of changing residents in the case of being approved as an
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organization viewed as a corporation" is "B. An organization viewed as a corporation
by the approval of the tax office". If we designate the ID of this section as 15, then the
parent of knowledge 17 can be identified as 15.

2) Level information

This is actually information that is determined naturally in the process of identifying
parent information. All knowledge in the diagram is organized into parent and child
units, and in this case, the child unit is one level lower than its immediate parent unit.
If 1. is followed by 1), then 1) is one level below 1. In the printout, it will appear as a
single tap to the right. In the chart above, the level of knowledge 17 can be confirmed
as 8 by tracking the table of contents. Its parent is, of course, at level 7.

3) Own order information on the same level

This is the order of information in the relationship between other knowledge units of
the same level if they are equally located at the level where you are located. Thus, itis
the sequence number in the sibling relationship. Therefore, if you are listed through
the table of contents such as 1, 2, 3, ... or A, B, C, ... on the same level, if you are B,
then B will be your order information. In the chart above, the order information of
knowledge 17 is the 4th, which means its order information is 4.

ii. Conclusion
To summarize, the parent information of knowledge 17 is 15, the level information is 8,

and the order information is 4. This can also be represented in a 3-dimensional format
as (15, 8, 4). This method will be used below.

(4) Linked information
Linked information is information that indicates the connection between the knowledge
and other knowledge. In the above example, there are two tags: €3 and r13. (For

reference, the letters in <> mean a conjunction when connected to knowledge 13, and
'n' means no conjunction is required.)
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e3 is an essential companion to knowledge 3. Knowledge 3 is as follows:

4. Title
A. An organization deemed as a corporation by the approval of the Head
of the Tax Office
5. Content
A. Certain types of corporations that do not distribute profits to their
members are viewed as a corporation and subject to taxation.
6. Location Information
A. Location information in the entire system
I. Omitted
B. Location information ID
I (11, 3, 5)

r13 is a Recommended companion knowledge. Knowledge 13 is as follows:

4. Title

(1) Requirements

5. Content
(1) A corporation, foundation, or other entity must have regulations
governing the organization and operation of the corporation, foundation, or
other entity and appoint a representative or manager.
(2) A corporation, foundation, or other organization must independently own
and manage its revenues and property on its own account and in its own
name.
(3) Not distribute the profits of the corporation, foundation, or other
organization to its members.

3. Location Information

A. Location information in the entire system

i. Omitted
B. Location information ID

i. 13

Generally, a single knowledge is divided into a single sentence, but in some cases, as
shown above, three very closely related knowledge can be combined into a single
knowledge. The result of combining these three pieces of knowledge is the following.
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1. An organization deemed to be a corporation by the approval of the Head of
the Tax Office

Certain types of organizations that do not distribute their profits to their

members are deemed to be corporations and are subject to taxation.

2. Requirements

(1) A corporation, foundation, or other entity must have regulations
governing the organization and operation of the corporation, foundation,
or other entity and appoint a representative or manager.

(2) Acorporation, foundation, or other organization must independently own
and manage its revenues and property on its own account and in its own
name.

(3) Not distribute the profits of the corporation, foundation, or other
organization to its members.

3. Restrictions on changing to resident or non-resident status

In case an organization is approved as a corporation, it may not change the

status to resident or non-resident in the taxation period including the

approval date and until the business year including the day after three years
from the end of the taxation period; unless the approval is cancelled
because of failure to meet the requirements for approval by the Head of Tax

Office.

This final result is what the K-Engine would display if the original 17th knowledge was
searched for.19 But it doesn't end there. The result above is,

"Whether | can change the residency if an organization is approved as a corporation.”

but in reality, it is common for dozens of knowledge to be extracted. In other words, the
above example is just the output based on knowledge 17, which was the most accurate.

K-Engine usually generates output based on the top three or four search results, thus,
if the target knowledge with a rank score of 100 is #17, the target knowledge with a
rank score of 85 is #34, and the target knowledge with a rank score of 77 is #5, and
their connection information is as follows:

® 17" knowledge

H rank: 100

10 The above result shows that the conjunction "same as the above" has been added.
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B linked information (tag) : e3<n>,r13< same as the above >
® 34" knowledge

B rank:85

B linked information (tag) : e22<n>,r3<n>, r19<n>
® 5" knowledge

B rank:77

B linked information (tag) : r27<n>,r35<n>, r41<n>

The final extracted knowledge data is as follows:
e3,r3,5,r13, 17,119, e22, 127, 34, r35, r41

The thick numbers are the original extracted knowledge data, and the others are the
knowledge data extracted together through linked information based on them. Among
them, e3 and r3 are duplicates, so they only need to be output once. Therefore, for a
total of 10 pieces of knowledge, the final result set of IDs is:

3,5,13,17,19, 22, 27, 34, 35, 41

If we were to extract and expose only the required companion knowledge, only the
following 5 knowledge will be exposed:

3,5,17,22, 34

All of this knowledge has its own systematic location information. The location
information is divided into the following three types. As mentioned earlier, this location
information is divided into the following three parts. In other words, as previously
mentioned,

® Table of contents of parent
® [Level information(Essentially the same as parent information)

® Own order information on the same level
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Based on this information, K-Engine assigns a new table of contents to the extracted
knowledge and outputs the final result in an orderly manner. This is how the first true
artificial human in the history of humanity was born. The human brain operates in the
same way.

4. Diversity of Tag Criteria

The tag symbols representing linkage information (e3<n>,r13<as above> - linkage
information for knowledge No.7 were manually extracted based on the target
knowledge data (i.e., knowledge No.7) and the knowledge that is linked to it. In other
words, if only the target knowledge data (No. 7) is extracted, it may be unclear in what
context this knowledge appears, and even the meaning of the knowledge itself may be
difficult to understand. Therefore, we need supplementary knowledge data that can
supplement these deficiencies. In other words, the extraction criteria for companion
knowledge data in this case is "semantic self-completeness."

The problem is that "semantic self-completeness" is not the only criterion for extracting
companion knowledge data, but one of many. As mentioned above, it is possible to
extract other criteria other than semantic self-completeness, such as "companion
knowledge related to real-world cases based on the real-world cases." In this way, you
can organize your tags by first collecting a large number of real-world examples and
then extracting the companion knowledge associated with each one. This is a kind of
"multiple perspectives of answers" to "multiple perspectives of questions." And those
perspectives can be combined in a multi-dimensional form.

In other words, if we take the "self-completeness of semantics" of the previous most
basic case as our basis, then we can use:!!

1. Semantic self-completeness
2. Real-world relevance

these above companion knowledge in two dimensions.

To put it more simply, a question about food can be asked from a nutrient perspective,
a diet perspective, a price perspective, and many other perspectives. The answers to
these questions will vary depending on the result set of the accompanying knowledge.
And the most basic of these perspectives is the self-completeness of meaning.

We can also extract companion knowledge in two dimensions. In this way, not only
one-dimensional extraction but also multi-dimensional extraction will significantly
exceed the level of the human brain. This is because the capacity and speed of the
human brain are overwhelming, even for one-dimensional companion knowledge
extraction. However, computers can reach the second dimension, third dimension,
fourth dimension... and even infinite dimensions within their capacity, which can be

1 In most cases, this is indeed the case. This is because semantic self-completeness is the
most basic connection information extraction criterion.
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indeed seen as the appearance of God.

5. Human Structure of Thinking and K-Engine

A "system" can contain all the knowledge in the world. It was enough for now. Until
now, all knowledge could only be contained in a tangible object called a book, and the
work could only be done to organize it, with no further processing. This is how
knowledge has been organized, transmitted, understood, and taught for thousands of
years in the form of "books".

When a problem arises, the first thing we do is turn to a book. Of course, those who
have the book well digested and organized in their heads, such as lawyers, don't need
to look through a book, they can use their brain book. This brain book is very fast, just
like a computer. When asked a question, the lawyer responds immediately. This is the
result of the information stored in the brain communicating with each other at high
speed through the neural network.

In this scene, we can assume that somewhere in the lawyer's brain, linked information
between knowledge is stored. This linked information interacts to create a beautifully
structured answer that flows out of his mouth. This is the implementation of the K-
Engine.

As you can see from the above, so far, we have only created a tangible "book" offline,
and the linked information between the knowledge in the books has been stored with
great effort in the neurons of the human brain. In other words, the two have been stored
separately.

The K-engine is the integration of these two separate elements. The computer stores
all of these elements on a single hard disk, which means that you don't have to make
any effort to write a book anymore. Anyone can become a lawyer without studying. The
same goes for doctors and pharmacists. All the expertise in the world is yours without
having to "study" it. Furthermore, general information obtained through Google is also
systematized. Thus, the area of obtaining daily knowledge will also come under the
control of the K-Engine.

Once the human connection information is entered, all questions can be answered
based on the systematic nature of the textbook. At this time, the manual work is not
done by me, but by others. | don't have to do anything. | can receive perfect grades
without studying. There is no reason to go to school.

6. Expansion of K-Engine
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At the time of writing this White Paper, only one section of the 700-page corporate tax
among tax law is being inputted. There are two directions for the expansion:

(1) Vertical Expansion

Personally, as | mentioned earlier, | expect to eventually have 100,000 pages of data
entry per field. This will make you better than a lawyer with decades or centuries of
experience. No matter how much detail there is, no matter how much complexity and
depth there is, K-Engine will pick it up like a tweezer. Lawyers and other experts have
to review the data, but K-Enterprise provides answers instantly. With just a single input,
the entire human race becomes lawyers and doctors. However, updates are required.
Therefore, existing lawyers and doctors can continue their roles as personnel in charge
of updates.

The principle of the K-Engine may seem simple, but that simpleness is enough to
contain all the knowledge in the world. The simpler it is, the more accurate it is. The
simpler it is, the less risk of error. The simpler it is, the more infinite it is. The simpler it
is, the more highly it can evolve. The evolution of K-Engine is infinite.

In my opinion, it is unlikely that we will see any more K-Engines. Even if they do, there
is no need for them. It's like saying that there's no need to develop a new OS when
Windows exists today. In other words, just as Windows is the end of the PC OS, K-
Engine is the end of K-Engine. This is because K-Engine is so simple that it can't be
simplified any further. It seems impossible that there will be any more patents.

In conclusion, K-Engine is the definitive version of conversational Al, and there is no
more. The future growth of conversational Al will come from within K-Engine, not
outside of K-Engine.

(2) Horizontal Expansion

| plan to establish 1,000 corporations with K-Engine as the holding company and list
them all on NASDAQ or KOSDAAQ. | plan to grant licenses individually to encourage
competition based on license renewal. If a licensed company becomes lazy, it will not
be renewed and will be licensed to another company that wants to compete.

The input of basic data for K-engine is believed to be around 1 billion won per field. If
there are 1,000 companies, it will cost about 1 trillion won. | don't plan to do this myself,

but at least | plan to exercise control based on licensing.

As time goes by, the fields will expand and be subdivided. It is expected to be

I O|X| 43 / 45



subdivided into about 100,000 fields. From the point of view of the Korean government,
the country where | was born, if only 10 people are employed in each field on average,
a total of 1,000,000 jobs will be created, and Korea's GDP per capita will be the highest
in the world. It is also speculated that even the national GDP of Korea could become
the highest.

(3) Expanding Connecting Logic

This is why there’s so much more development to come for K-Engine. It is based on
the tagging criteria as mentioned earlier, namely based on the diversification of
connection logic and its high dimensionality. Hereby, K-Engine will expand horizontally
to all fields, add vertical depth to each field, and finally, ultra-sophisticate the human
knowledge system through variation of various perspectives. In this way, artificial
humans will become true humans, and current humans will be reduced to the level of
artificial humans. | want my children to be better than me. Similarly, | want K-Engine to
be more than human, even though it is made by human hands.

One last question. | think I've proven enough that K-Enterprise is the ultimate protocol
for artificial intelligence. Any objections?

7. Comparison with GPT

Comparison GPT K ENGINE
Status Applicatioin 0S
Operation base Language Knowledge
Basic data Information on the web Textbook knowledge
Database capacity Big—-data based Small-data based!?
Possibility of inheriting YES NO
error from source data
Possibility of error in YES NO

the combining process
of knowledge

Answers for Expert WEAK STRONG
Knowledge

Answers for General STRONG WEAK in short term
Knowledge

2 The amount of data required to produce a lawyer-quality answer in any one field is about
10 megabytes (10,000 pages).

13 Of course, if there are errors in the production of the textbook itself, the K-Engine could
also make errors. Of course, this is only theoretically possible.
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STRONG in long term'*

Copyright issue POSSIBLE NONE?®®
Server specification High specification Does not require high
required specification

Hard disk specification

Ultra-large
specification required

100 megabytes per field
1s sufficient

Power consumption

Huge

Same as a general server
(e.g. Google server, etc.)!®

8. Related Patents

® Korean Patent Application No0.10-2023-0053098

: Connection Knowledge

Generating Method and System Through Knowledge Crossing and Knowledge

Connection)

® Korean Patent Application No.10-2023-0108659

Method of generating

combined knowledge through extraction of accompanying knowledge)

4 In the long term, all general knowledge will be included in the K Engine. At that point, K-
Engine will surpass GPT in the field of general knowledge.
15 GPT inevitably encounters copyright issues in the process of sweeping up all the

knowledge on the Internet, but K-Engine is completely free from copyright issues because it

creates its own data (textbooks).

'6 1t will use much less power than Google. This is because Google is also based on big data.

K- Engine only competes with logic based on small data that has been essentialized, so the
amount of power required is extremely small.
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